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CPA INTERMEDIATE LEVEL
PIOT PAPER

FINANCIAL REPORTING AND ANALYSIS

December 2021.

Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

Vista Limited has prepared the following trial balance as at 30 September 2021:

Debit Credit
Sh.«000° Sh.«000”
Land at valuation 140,000
Buildings at cost 300,000
Furniture and equipment at cost 0’131,250
Motor vehicles ~-7120,000
Accumulated depreciation at 30 September 2020: A ,O i
Buildings e’ 48,200
Furniture and equipment X /@“ 87,050
Motor vehicles (\’O 22,000
Investment property oM 24,600
Rental income received 0)(,\ l 2,400
Sales N 473,250
Cost of sales A 179,550
Loan stock interest paid ,\é@ 5,000
Trade receivables 42,600
Distribution costs 15,700
Administrative expenses 30,750
Other operating expenses 45,000
Dividends paid 80,000
Installment tax paid 22,500
Bank and cash 7,950
Inventories as at 30 September 2021 41,100
Trade payables 19,800
Ordinary shares of Sh.50 each, fully paid 200,000
Share premium 119,400
Land Revaluation Reserve 21,000
Retained earnings as at 30 September 2020 130,100
10% Loan stock (Maturity date of 2025) 50,000
Deferred tax liability 12,800
1,186,000 1,186,000
CA23 Page 1

Out of 7



The following additional information is relevant:

1.
2.

Land is to be valued upwards by Sh.3 million.
Depreciation rates are as follows, with their respective classifications:

Asset Rate on Cost Category
Buildings 2% Administration cost
Furniture & Equipment 20% Administration cost
Motor vehicles 25% 20% Cost of Sales

80% Distribution

The investment property is being accounted for using the fair value model as per IAS 40, with the fair value being
Sh.25 million as at 30th September 2021.

The company has assessed the expected credit loss on trade receivables and has summarized the following details:

Amount Sh.”000”’ Probability of default
5%

26,600
20%

12,600
50%

3,400

The expected credit loss is classified as an administrative expense. \%@

Included in other operating expenses is a payment of Sh.10 mil {on made on 30 September 2021. This is the annual
lease rental of computer and network equipment, being paid in-arrears. The lease is for 5 years beginning this year,
although the company is treating the lease as an operatin%ﬁaase. The implicit interest rate is 10%. Any depreciation
expense is classified as an administration expense.

O
The company is yet to account for redundancy c\ogcggestimated at Sh.25 million. The management made a proposal
to the board in August to lay off staff beginninggfOctober 2021. The board is yet to approve, and no announcement
has been made yet although the directors feg%e amount should be provided on prudence grounds.

After computing the cost of sales, the m@@gement was made aware about an error with the inventory module in the
accounting software, which understated the opening inventory by Sh.10 million and the closing inventory by Sh.15
million. The amounts are consid material based on the company's policies.

The par value of the loan stock will be settled on 30 September 2025. The effective interest rate is 10% and the
company has classified the loan stock at armotized cost.

The corporate tax rate for the year is estimated at Sh.35 million. The taxable temporary differences as at
30 September 2021 are given as follows:

Sh. «“000”
For adjustment to Profit or Loss 47,000.00
For adjustment in revaluation reserve 3,000.00
50,000.00
The corporation tax rate is 30%.
Required:
Prepare the following financial statements for publication for the year ended 30 September 2021:
@) The statement of profit or loss and other comprehensive incomes. (8 marks)
(b) The statement of changes in equity. (6 marks)
(c) The statement of financial position. (6 marks)

(Total: 20 marks)
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QUESTION TWO

@) Explain briefly, how an accounting firm should recognize revenue from providing various accounting services to
one client as per IFRS 15 ‘Revenue from Contract with customers’ (5 marks)

(b) Dr. Jacinta Mochari has been working as a resident dentist for the Afya Hospital for the past five years. On 1 January
2020, she began her private practice and leased a clinic in City Hospital Doctors’ Plaza. However, she was to
continue as a visiting dentist on request at Afya Hospital.

The following transactions took place during the year:

1. She opened a separate bank account for the practice and deposited Sh.5 million as capital. In addition, she obtained
a loan from the bank of Sh.5 million at interest rate of 12% annually. The loan will be paid over 5 years at Sh.1
million, together with interest due at the end of each year.

2. She imported three dental equipment, at a price of Sh.600, 000 each, though she incurred freight, insurance and port
clearance costs of Sh.200,000. The equipment is depreciated over five years.

3. She also bought other equipment for Sh.1 million, furniture and fixtures of Sh.2 million and dental books worth
Sh.500,000. Both the equipment and furniture were to be depreciated over 8 years, while the dental books have a
useful life of 5 years for the purpose of amortization.

4. Dr. Jacinta hired a dental aid, who also doubled as the clinic administrator at Sh.60,000 per month, a receptionist,
carrying out other clerical duties at Sh.30,000 per month and a cleaner/casual at Sh.15,000 per month. They all began
employment immediately.

5. Dr. Jacinta also hired the services of two other dentists to meet increased number of patients or when she was visiting
Afya. During the year, the dentists carried were paid for professional @ejvices at a cost of Sh.2 million. In addition,
Dr. Jacinta offered some interns learning opportunities and paid thén-total stipend of Sh.300,000.

6. During the year, patients paid Sh. 6 million in cash, while those @\/érious insurance and medical covers were treated
at a total of Sh.4 million. By the end of the year, the corporgtes and insurance companies had paid Sh.2.8 million
directly into the business bank. Dr. Jacinta also noted th%@client owing Sh.200,000 will likely not pay.

7. The cash that was received was banked but after pay'@é’[he following items:

e  Surgical and prescription me&%ne Sh.500,000
e  Stationary Sh.40,000 @Q

e Cleaning consumablesgh720,000

e  Other office expense}%uch as telephone, internet and transport Sh.40,000

Cash drawings for personal use Rgﬂ\.)r. Jacinta averaged Sh.40,000 per month. By the end of the year only Sh.120,000
was available in the office safe.

8. Majority of transactions took place in the bank, except for the one highlighted in note 7. Initially, Dr. Jacinta fixed
some amount and earned interest of Sh.120,000. Other expenses were mainly salaries to staff, interest on loan, rent
of Sh. 100,000 per month, electricity and water worth Sh.60,000. She also paid Sh.30,000 as subscriptions to the
dental association.

9. Dr. Jacinta had paid 3 months deposit on rent, which was refundable upon the termination of the lease. Dr. Jacinta
also drew Sh.60,000 every month for personal expenses from the bank. Meanwhile the electricity and water bills for
December had not been paid, but were subsequently received and settled in January 2021 at Sh.4,500.

10. Dr. Jacinta bought surgical and prescription medicine worth Sh.1.5 million on credit. By the end of the year, she had
already paid Sh.800,000 while surgical and medicine worth Sh.400,000 was available by end of the year.

Required:

Prepared for the year ended 31 December 2020

(i) The statement of profit or loss. (9 marks)

(i) The statement of changes in capital (3 marks)

(iii) The statement of financial position. (8 marks)

(Total: 20 marks)
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QUESTION THREE

The following statements of financial position relate to Hop Limited, Skip Limited and Amp Limited as at 30 September

2021.
Hop Ltd Skip Ltd Amp Ltd
Sh.000 Sh.000 Sh.000
Property, plant and equipment 271,000 215,500 104,940
Investments - Skip (Shares) 178,000
Skip (Loan Stock) 20,000
Amp 114,000
Others 25,000
608,000 215,500 104,940
Current assets
Inventories 48,500 29,100 72,720
Trade receivables 70,000 53,000 39,920
Cash 35,000 19,220 54,020
153,500 101,320 166,660
Total Assets 761,500 316,820 271,600
Equity
Share capital - Sh.100 par 300,000 150,000 200,000
Retained earnings 275,3.(‘)@ 122,200 34,080
@@,300 272,200 234,080
O)\/
Noncurrent liabilities @\’
10% Loan Stock N 120,000 40,000 -
Current liabilities , >
Trade payables . o 66,200 4,620 37,520
Total Capital and Liabilities /\%@“ 761,500 316,820 271,600
<

Additional information:

1. Hop Limited acquired 80% of Skip Limited on 1 October 2019 at a cost of Sh.178 million and half of the Loan stock
in Skip Limited. At 1 October 2019, Skip Limited had a credit balance on its retained earnings of Sh.18 million. Itis
the group’s policy to use full goodwill, which can be fairly estimated using the proportions of the parent and the non-

controlling interest.

2. During the year ended 30 September 2021 Skip Limited sold goods to Hop Limited for Sh.24 million. On 30
September 2021 half of these goods remained unsold. Skip Limited sells goods at a markup of 25%.

3. On 30th April 2020, Hop Co Limited acquired 25% of Amp Limited at a cost of Sh.114 million. Amp Limited had a
retained earnings credit balance of Sh.32 million at this time.

4. The fair values of Skip Limited and Amp Limited were not materially different from their book values at the
time of acquisition, with the following exceptions:

Q) Skip Limited held inventories with a fair value which was Sh.4 million greater than book value. All of
these inventories had been sold by 30 September.
(i) Items of plant and equipment belonging to Skip Limited had a fair value of Sh.10 million in excess of

book value. By 30 September 2021, the items of plant had 50% depreciation applied.
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An impairment test conducted as at 30 September 2021 indicated that half of the recognized goodwill relating to the
investment in Skip Limited was impaired, which only applies at group level. No impairment loss is reported on the
investment in Amp Limited.

6. Both Skip Limited and Amp Limited are listed companies. In preparing its statement of financial position, Hop
Limited is yet to reflect the following accounting treatments as required by IAS 27 for separate financial statements:
Investment Fair Value Basis
Sh.«000”
Investments - Skip Limited 170,000 | At Fair Value through other comprehensive incomes under
(Shares) IFRS 9
Skip Limited (Loan 20,000 | At amortized cost
Stock)*
Amp Limited 124,000 | At Fair Value through other comprehensive incomes
Others 27,000 | At Fair value through Profit or Loss

*This is at amortized cost.

Required

Prepare the consolidated and separate (Parent) statement of financial position as at 30" September 2021

(20 Marks).

QUESTION FOUR

<
ElimuMingi University is a public university based in the coastal parts of tﬁje_'country. The University has summarized the
following information for the purpose of preparing the budget informatigi@ccording to IPSAS 24 for the financial year ended

30 June 2021. .
%)
Original Budge{,‘/Adjustments Final budget Actual
Revenue Sh.“mil\li;nh"’ Sh.“million” | Sh.“million” | Sh.“million”
Government Grants and Subsidies @‘56.00 (24.00) 832.00 810.00
Internally generated @Ci,230.00 140.00 1,370.00 1,220.00
Expenditure \g:‘}
Personnel Costs §§ ‘ 1,480.00 (110.00) 1,370.00 1,520.00
Management and Council expenses \Q 55.00 (5.00) 50.00 56.00
Administration Expenses 395.00 (8.00) 387.00 420.00
Students Welfare 19.00 8.00 27.00 25.00
Repair and Maintenance costs 86.00 (6.00) 80.00 102.00
Audit Fees 2.00 0.00 2.00 2.00
Required:
@) Prepare the statement of comparison of budget and actual information as per 1AS 24. (10 marks)
(b) Provide a rationale explanation where the difference between the actual and final budget exceeds the 10% threshold

()

as per 1AS 24, (8 marks)
The University is considering various sources of revenue, being a public entity, in order to improve its financial
performance. IPSAS 23 provides potential revenues for public sector entities, more specifically those arising from
nonexchange transactions.

Briefly explain the meaning of revenue from nonexchange transactions, providing two possible sources of revenue
from nonexchange transactions that the university can use. (2 marks)
(Total: 20 marks)
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QUESTION FIVE

The management board of Zico Limited is reviewing the performance of the company for the year ended 30 June 2021 relative
to 30 June 2020. The company is engaged in buying and selling various agricultural products and despite challenges in the

operating environment due to Covid, the results for 2021 are better than those of 2020.
The company has presented the following financial statements for the two years:

Zico Limited
Statement of profit or loss for the years ended 30 June:

2020
Sh.“000”
Revenue 2,027,310
Cost of sales (1,503,999)
Gross profit 523,311
Administrative expenses (225,600)
Distribution Costs (167,630)
Profit Before Interest 130,081
Finance Costs (44,600)
Profit before tax 85,481
Income tax expense (26,400)
Profit for the period 59,081
Dividends Paid (M)
Retained Profit for the year 028,581
Retained Profit b/f ,O 329,769
Retained Profit c/f @@ 358,350
XU
QO
Statement of Financial Position as at 30 June: Q“/Q
@Q 2020
Non-current assets \gf& Sh.«000”
Property, plant and equipment Q° 259,610
Q
Q

Current assets
Inventories 382,078
Trade and other receivables 647,356
Bank and Cash 68,600
1,098,034
Total Assets 1,357,644

Capital

Share capital 80,000
Retained earnings 358,350
438,350
Non-current liabilities 104,972
Current liabilities 814,322
Total Liabilities 919,294
Total Capital and Liabilities 1,357,644

2021
Sh.«000”
4,306,533

(3,289,702)
1,016,831
(328,250)
(267,800)

420,781

(108,399)
312,382

(52,500)
250,882
(65,300)
194,582
358,350
552,932

2021
Sh.<000”
571,570

654,980
1,802,286
81,000

2,538,266
3,109,836

998,050
1,478,854

2,476,904
3,109,836
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Required:

(@)

(b)

(©)

Prepare the following common size reports:

(1) Vertical analysis for years 2020 and 2021 using revenue as the common base for profit or loss and total
asset as the common base for the statement of financial statements (4 marks)
(i) Horizontal analysis, using year 2020 as the common base for analyzing year 2021 (2 marks)

Compute the following ratios for each of the two years:

(1) Net Profit Margin. (1 mark)
(i) Return on equity. (1 mark)
(iii) Current ratio. (1 mark)
(iv) Quick ratio. (1 mark)
(v) Debt ratio. (1 mark)
(vi) Debt equity ratio. (1 mark)
(vii) Inventory turnover ratio. (1 mark)
(viii)  Total assets turnover ratio. (1 mark)

Using the financial statements and the various ratios, comment on the &erformance of year 2021 compared to year

2020, with respect to profitability, liquidity and solvency. NC (6 marks)
o° (Total: 20 marks)
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